WOOD POLE SIZE & CLASS
AS SHOWN ON PLANS

POWER COMPANY
SECONDARY SERVICE

3"SERVICE CAP (PVC)

CONTACT HEIGHT AS
SHOWN ON PLAI

SEE DETAILS "D & E"

COIL 10" OF TRAFFIC SIGNAL
CABLE FOR FUTURE ADJUSTMENT
OF SIGNAL SPAN (DRIP LOOP)

POLE CONTACT HEIGHT (POCH)
AS SHOWN ON PLANS

PREFORMED GUY GRIP DEAD ENDS

SEE DETAIL "A"

3" SERVICE CAP (METAL)
STEEL POLE TOP

SAG
(AS SPEC)

©)

e O8] 5\ s (#) SEE NOTES ON SHEET 2 OF 6
Bt 256 ®\ )
GROUND WIRE—/ |
L ® \
9~
[a]
w
[
(@]
Q i
o
%]
2
< NOTE:
[&]
el ™ 2) ALIGN RED INDICATIONS AT SAME HEIGHT PER APPROACH
WOOD POLE 5
7~ &
(I~
SPAN WIRE
=]
TOP OF
PROPOSED
GRADE

1) USE NUMBER & TYPE OF T.S. AS CALLED FOR ON PLAN

3) THIS DIMESION WILL EXCEED 17; WHEN THERE ISA 4
SECTION HEAD ON THE SAME SPAN (IN ORDER TO
KEEP RED INDICATIONS AT THE SAME ELEVATION)

4) PREFORMED LASHING ROD TO BE INSTALLED THE FULL
LENGTH WHERE SIGNAL WIRE IS INSTALLED WITH

17-0"

GRADE CENTERLINE

o

POCH AS SPECIFIED

—STEEL POLE
L

1y

/TOP OF FOUNDATION

DETAIL - TYPICAL SPAN WIRE INSTALLATION T.S.

1 NTS

STEEL POLE & WOOD POLES

TINNED BRASS SPLIT
BOLT CONNECTOR FOR

GROUND WIRE

NO. ITEM
1| TRAFFIC SIGNAL (NO. HEADS AS INDICATED) #6 COPPER
2 | SPAN WIRE HANGER JUMPER
3 | 5/16" EXTRAHIGH STRENGTH SPAN WIRE
4 | 3" SERVICE CAP (WEATHERHEAD), (METAL FOR STEEL AND PVC FOR WOOD POLES)
5 | P.J. TRAFFIC SIGNAL CABLE (AS SPECIFIED)
6 | PREFORMED LASHING RODS
7 | POLE BAND CLAMP (STEEL POLE)
8 | GUY THIMBLE (2" DIA.) DETAIL

\PERFORMED

TAIL OF SPAN  DEAD-END

TINNED BRASS SPLIT
BOLT CONNECTOR FOR
GROUND WIRE

- COPPER JUMPER

©

(2) 5/8" X 4" LONG BOLT, NUT, WASHERS PER POLE BAND CLAMP (STEEL POLE)

NTS

=
o

INSTALL SPAN WIRE PREFORMED (ARMOR ROD) UNDER EACH SPAN HANGER

NOTE:

-
=y

ACCESS HAND HOLE ALL NEW & EXISTING STEEL POLES

-
N

5/8" EYEBOLT, OVAL EYE AND NUT

-
w

WOOD MOULDING OR PLASTIC DUCT (10' FROM GROUND LEVEL)

-
N

3" SCHEDULE 80 PVC OR RIGID METAL (*) SEE NOTE ON SHEET 2 OF 5

-
w

PREFORMED GUY GRIP DEAD ENDS

PORCELAIN STRAIN INSULATOR ( IF REQUIRED
SHALL MEET THE CODES AND PLACEMENT
REQUIREMENTS OF THE LOCAL UTILITY CO.

G
APPROVED BY: (3
DIRECTOR, BUREAU OF FIELD SERVICES Michigan Department of Transportation

DEPARTMENT DIRECTOR

APPROVED BY:
BRADLEY C. WIEFERICH, PE

DIRECTOR, BUREAU OF DEVELOPMENT

STANDARD PLAN FOR

SPAN WIRE CASING DETAILS

(SPECIAL DETAIL) 07/27/23

FHWA APPROVAL PLAN DATE

S1G-010-A

SHEET
10F7

SEE DETAILS

"D
SHEET 4

WOOD POLE SIZE & CLASS
AS SHOWN ON PLANS

POWER COMPANY
SECONDARY SERVICE

@ ®

3" SERVICE CAP (PVC)

CONTACT HEIGHT AS
SHOWN ON PLANS

&E"
OF 5

POLE CONTACT HEIGHT (POCH)
AS SHOWN ON PLANS

SEE DETAIL "A" SHEET 1 OF 5

COIL 10" OF TRAFFIC SIGNAL
CABLE FOR FUTURE ADJUSTMENT
OF SIGNAL SPAN (DRIP LOOP)

(#) SEE NOTES ON SHEET 2 OF 6

3" SERVICE CAP
(METAL)

STEEL POLE TOP

SEE DETAILS
g

"B & C" SHEET
30F5

__@

<[y
GROUND
G
w
®
Q0
® "
a o
w w
o o
(&}
& 3] & i
7] z b4 %
i S NOTE: g @
< < 1) PREFORMED LASHING ROD TO BE INSTALLED o= <
5 4 THE FULL LENGTH WHERE SIGNAL WIRE IS Ela 5
o) 1 . 1° INSTALLED WITH SPAN WIRE. 219 o
o o|z ol= o
e w|Q
~
- SI= 2
g 2=
s =
5 WOOD s z
- / POLE = = STEEL POLE
TOP OF
;GRADE CENTERLINE '/ FOUNDATION
TOP OF
PROPOSED
GRADE
1 TYPICAL FLASHING BEACON INSTALLATION ON STEEL AND WOOD POLES
NTS
NO. ITEM
1 | TRAFFIC SIGNAL (NO. HEADS AS INDICATED)
2 | SPAN WIRE HANGER
3 | 5/16" EXTRA HIGH STRENGTH SPAN WIRE
4 | 3" SCHEDULE 80 PVC OR RIGID METAL (*) SEE NOTE ON SHEET 2 OF 5
5 | P.J. TRAFFIC SIGNAL CABLE (AS SPECIFIED) NOTES:
6 | PREFORMED LASHING RODS (*) FOR PROJECTS MAINTAINED BY THE WAYNE CO. DEPARTMENT
OF PUBLIC SERVICES (WCDPS), USE RIGID METAL FOR CONDUIT(S)
7| POLE BAND CLAMP (STEEL POLE) FROM GRADE LEVEL TO 10' (MIN.) ABOVE GRADE OR AS DIRECTED
8 | GUY THIMBLE (2" DIA.) BY THE ENGINEER.
9 | (2)5/8" X 4" LONG BOLT, NUT, WASHERS PER POLE BAND CLAMP (STEEL POLE) (#) FOR PROJECTS MAINTAINED BY THE ROAD COMMISSION FOR
10 | INSTALL SPAN WIRE PREFORMED (ARMOR ROD) UNDER EACH SPAN HANGER OAKLAND COUNTY (RCOC), USE DRIP LOOP (WITHOUT COIL)
FOR FUTURE ADJUSTMENT OF SIGNAL SPAN.
11 | ACCESS HAND HOLE ALL NEW & EXISTING STEEL POLES
12 | 5/8" EYEBOLT, OVAL EYE AND NUT
43 | WOOD MOULDING OR PLASTIC DUCT (10' FROM GROUND LEVEL)
14 | 3" SERVICE CAP (WEATHERHEAD), (METAL FOR STEEL AND PVC FOR WOOD POLES)
45 | PREFORMED GUY GRIP DEAD ENDS
< STANDARD PLAN FOR
eMDOT SPAN WIRE CASING DETAILS
Michigan Department of Transportation
DEPARTMENT DIREGTOR (SPECIAL DETAIL) 07/27/23 SHEET
BRADLEY C. WIEFERICH, PE FHWA APPROVAL PLAN DATE SIG-010-A 20F7

SECT




POLE CAP

3" SERVICE
_ (METAL)

18" MAX.

;CABLE SPAN

[THIMBLE SEE DETAIL
_ S

CAP

CARRIAGE BOLT & HEX
NUT (GRADE 5)

A449 HEAVY HEX BOLT (2 PER CLAMP)
LOCK WASHER, FLAT WASHER AS REQUIRED, &
HEAVY HEX NUT (HOT DIP GALVANIZED)

—x POLE BAND ) 3% .
\ OVAL EYE NUT
SIGNAL SPAN ~
THIMBLE (2" @) N
IN—POLE BAND
(ONE SPAN PER OVAL EYE NUT zz .
POLE BAND) s= I
S
— N
N %" MIN,
‘A ).DETALL - POLE BAND CLAMP ON STEEL POLE
SIDE BACK
b‘\" STEEL POLE BAND CLAMPS MUST BE STAMPED WITH IDENTIFICATION THAT IS e DETAIL - THIMBLE
TRACEABLE BACK TO THE MANUFACTURER, WHICH CAN BE USED TO DETERMINE
THE MONTH AND YEAR OF CLAMP MANUFACTURE. THE STAMPING METHOD MUST BE
ALOW STRESS STAMPING METHOD. THE STAMP CANNOT BE LOCATED NEAR THE
BOLTED FLANGE, MUST BE LOCATED NEAR THE CENTER OF THE CLAMP ON THE
BACK SIDE FACING AWAY FROM TRAFFIC, AND BE VISIBLE AFTER
GALVANIZING. ALL BEND RADII ARE TO BE A MINIMUM OF 1.5 TIMES THE
POLE BAND THICKNESS.
STEEL POLE CAP
3" SERVICE CAP (METAL) POLE CAP .
(PLUG ALL UN-USED HOLES —/f( _ 3" SERVICE CAP (METAL)
(PLUG ALL UN-USED HOLES

IN WEATHERHEAD)

3 LAYERS BLACK
FRICTION TAPE
OVER END OF
LASHING ROD

PERFORMED
DEAD END

MULTICONDUCTOR TRAFFIC
SIGNAL CABLE. COIL 10" OF TRAFFIC
CABLE (DRIP LOOP) FOR FUTURE
ADJUSTMENT

9 " RADIUS MIN
NO SPLICES ALLOWED

BETWEEN SIGNAL HEAD
AND CONTROLLER BOX

POLE BAND MOUNTED

IN WEATHERHEAD)

18" MAX
6" (TYP)
18" MAX

POWER CO. SEC SERVICE
(120/240 A.C. SINGLE PHASE)

e

_I: —TL;l POLE BAND MOUNTED

\3" CONDUIT WITH

im
-
\ 2 PVC BELL ENDS
B! WRAP SPAN WIRE g
AROUND POLE WITHA S
H o] MINIMUM 10" TAIL z gﬁggLEEAND BAND

FOR ADJUSTMENT s

B

CONNECTOR FOR GROUND WIRE

(SEE DETAIL "A" SHEET 1 OF 6) A SPAN WIRE
—GROUND WIRE

/ ‘ POLE BAND CLAMP

L ‘ |\TINNED BRASS SPLIT BOLT

6" (TYP)

FOR SECONDARY SERVICE COIL 10" OF TRAFFIC SIGNAL CABLE FOR B
FUTURE ADJUSTMENT (DRIP LOOP)
@ DETAIL-CABLING ON STEEL POLE @ DETAIL - SERVICE CABLE ON STEEL POLE
< STANDARD PLAN FOR

SPAN WIRE CASING DETAILS

Michigan Department of Transportation

DEPARTMENT DIRECTOR (SPECIAL DETAIL) 07/27/23 SHEET
BRADLEY C. WIEFERICH, PE FHWA APPROVAL PLAN DATE S I G'O1 O'A 30F7

THIMBLE
(2" DIA)
-

REFORMED DEAD END

GALVANIZED STEEL
BULL RING 1" THICK

PREFORMED DEAD END

SPAN WIRE

DETAIL
3-WAY TIE OFF BULL RING

WOOD OR PLASTIC MOLDING

3" SERVICE CAP (PVC) (FOR TRAFFIC
SIGNAL INSTALLATION) (USE 1 1/2" TO

3" PVC FOR FLASHING BEACON
INSTALLATION)

NO SPLICES ALLOWED BETWEEN
SIGNAL HEAD & CONTROLLER BOX

PREFORMED DEAD END

3 LAYERS BLACK FRICTION TAPE
OVER END OF LASHING ROD

|l

LOOP SPAN WIRE WITH
AMINIMUM 5' TAIL FOR
ADJUSTMENT

MULTICONDUCTOR TRAFFIC SIGNAL
CABLE. COIL 10' OF TRAFFIC SIGNAL
CABLE (DRIP LOOP) FOR FUTURE
ADJUSTMEN

#6 COPPER MIN TO GROUNDING

ROD IN WOOD OR PLASTIC
MOULDING

(2" DIA) GROUND WIRE

3 LAYERS OF BLACK
FRICTION TAPE
AROUND END OF
DEAD END & SPAN

TINNED BRASS SPLIT BOLT
CONNECTOR FOR GROUND WIRE
2

<

TAIL OF SPAN

SPAN WIRE
PREFORMED DEAD END

TINNED BRASS SPLIT
BOLT CONNECTOR FOR

DETAIL COPPER JUMPER
3-WAY TIE OFF

NOTE:

PORCELAIN STRAIN INSULATOR (IF REQUIRED)
SHALL MEET THE CODES AND PLACEMENT
REQUIREMENTS OF THE LOCAL UTILITY CO.

WOOD POLE

POWER CO. SECONDARY SERVICE
(120/240 A.C. SINGLE PHASE)

5/8" DABOLT

USE 3" SCHEDULE 80 PVC OR RIGID METAL
CONDUIT (FOR TRAFFIC SIGNAL INSTALLATION)
(USE 1 1/2" TO 3" SCHEDULE 80 PVC FOR
FLASHING BEACON INSTALLATION)

GROUND WIRE

TINNED BRASS SPLIT BOLT
CONNECTOR FOR GROUND WIRE
(SEE DETAIL "A" SHEET 1 OF 6)

GALVANIZED STEEL 2 HOLE STRAP

(3 FT SPACING) (1/4" x 1/2" HEX HEAD
LAG SCREW U-GUARD FASTENER OR
APPROVED EQUAL)

5/16" GUY STRAND (TYP)

@ DETAIL - CABLING ON WOOD POLE

G

Michigan

eMDOT

DEPARTMENT DIRECTOR (SPECIAL DETAIL) 07/27/23
BRADLEY C. WIEFERICH, PE FHWA APPROVAL PLAN DATE SIG'O1 O'A

STANDARD PLAN FOR
SPAN WIRE CASING DETAILS

Department of Transportation

SHEET
40OF7

SECT




PERFORMED DEAD END

TINNED BRASS SPLIT BOLT
CONNECTOR FOR GROUND WIRE

TAIL OF SPAN

THIMBLE
(2" DIA) (2" DIA)

GEN HANGER
GEN HANGER

STAINLESS STEEL
STAINLESS STEEL

#6 COPPER JUMPER

GEN HANGER

THIMBLE
(2" DIA)
PERFORMED DEAD END

DETAIL COPPER JUMPER
3-WAY TIE OFF

GEN HANGER

S.S. BOLT-IN NYLOCK NUTS (18-8)
TORQUE HARDWARE TO 20 FT-LBS

GEN HANGER

STAINLESS STEEL

S.S. BOLT 1/4-20 X 3/4 (18-8)
TORQUE HARDWARE TO 20 FT-LBS

STAINLESS STEEL
GEN HANGER

STAINLESS STEEL

DETAIL SPAN HANGER ASSEMBLY (ALTERNATE)

< STANDARD PLAN FOR
eMDOT SPAN WIRE CASING DETAILS

Michigan Department of Transportation

DEPARTMENT DIRECTOR (SPECIAL DETAIL) 07/27/23
BRADLEY C. WIEFERICH, PE FHWA APPROVAL PLAN DATE SIG'O1 O'A

SHEET
50F7

SPAN WIRE

PREFORMED
DEAD END

TC1 TYPE
CONNECTOR

(2) GALVANIZED STEEL BAR

TC1 BARRON BETHA
TYPE CONNECTOR
(OR APPROVED EQUAL)

PREFORMED
DEAD END

SPAN WIRE

PULL-OFF CONNECTION DETAIL (ALTERNATE)
FOR 3-WAY SUSPENSION

120° MIN

30" (MIN.) ORAS CALLED

T.S. AS CALLED
FOR ON PLANS

FOR ON PLANS

(2) WASHERS

ANGLE CLAMP

ARMOR ROD

/

SPAN WIRE
ARMOR ROD

PIN W/ COTTER KEY

HOLE SUSPENSION CLAMP
&
(2) GALVANIZED STEEL BAR
HOLE
PIN W/ COTTER/Q
KEY
2 TC1 BARRON BETHEA
PREFORMED Z TYPE CONNECTOR
DEAD END 2 (OR APPROVED EQUAL)
72
SPAN WIRE 9

PULL-OFF CONNECTION DETAIL (ALTERNATE)
FOR 3-WAY SUSPENSION

. STANDARD PLAN FOR
eeMDOT SPAN WIRE CASING DETAILS

Michigan Department of Transportation

DEPARTMENT DIRECTOR (SPECIAL DETAIL) 07/27/23
BRADLEY C. WIEFERICH, PE FHWA APPROVAL PLAN DATE SIG'O1 O'A

SHEET
6 OF 7

SECT




WOOoD POLE\

S S &

NOTE: ﬁ
1) POLE CONTACT HEIGHT (POCH) WILL BE 23'-0" ON BOX SPAN UNLESS
OTHERWISE SPECIFIED ON PLANS OR AS DIRECTED BY THE ENGINEER. /STEEL POLE
2) ALL RED INDICATIONS SHOULD ALIGN HORIZONTALLY.
METAL SERVICE CAP
/—(WEATHER-HEAD)
POCH 23'-0 ORAS >
SHOWN ON PLANS /—POCH 24'-0" ORAS
—  — SHOWN ON PLANS
S| @)
) o o
ONLY O ®

PROVIDE 17'-0" OF UNDERCLEARANCE

DETAIL INSTALLATION OF BOX SPAN WIRE T.S. ON STEEL OR WOOD POLES

NOTE:

] 1) POLE CONTACT HEIGHT (POCH) WILL BE 24'-0" ON BOX SPAN ﬁ
WITH A LEFT RURN PHASE UNLESS OTHERWISE SPECIFIED ON
ON PLANS OR AS DIRECTED BY THE ENGINEER. STEEL POLE
2) ALL RED INDICATIONS SHOULD ALIGN HORIZONTALLY. /
WOOD POLE
\ METAL SERVICE CAP
POCH 24'-0 OR AS 12" PIPE 12" PIPE /—(WEATHER-HEAD)
SHOWN ON PLANS =
/—POCH 24'-0" ORAS
SHOWN ON PLANS
LEFT ] ]
2 B
4TH LEVEL
S 8 .
=
PROVIDE 17-0" OF UNDERCLEARANCE 170"
DETAIL B: INSTALLATION OF BOX SPAN WIRE T.S.
= W/LT PHASE OR 4TH LEVEL ON STEEL OR WOOD POLES e
NOTE:
B 1) POLE CONTACT HEIGHT (POCH) WILL BE 24'-0" ON BOX SPAN ﬁ
WITH A FLASHING YELLOW ARROW UNLESS OTHERWISE SPECIFIED ON
ON PLANS OR AS DIRECTED BY THE ENGINEER. STEEL POLE
2) ALL RED INDICATIONS SHOULD ALIGN HORIZONTALLY. /
WOOD POLE
\ METAL SERVICE CAP
POCH 24'-0 ORAS 12" PIPE 12" PIPE /_(WEATHER»HEAD)
SHOWN ON PLANS =
/—POCH 24'-0" ORAS
— — — SHOWN ON PLANS
& & A5
o O O
e [© o |g 9| DOG HOUSE
Sl O =
e
170" PROVIDE 17-0" OF UNDERCLEARANCE
o DETAIL C: INSTALLATION OF BOX SPAN WIRE T.S. <L

FYAAND DOGHOUSE ON STEEL OR WOOD POLES

BOX SPAN WIRE T.S ON STEEL OR WOOD POLES
FOR USE ON OAKLAND COUNTY ROADS ONLY

. STANDARD PLAN FOR
eeMDOT SPAN WIRE CASING DETAILS

Michigan Department of Transportation

DEPARTMENT DIRECTOR (SPECIAL DETAIL) 07/27/23 SHEET
BRADLEY C. WIEFERICH, PE FHWA APPROVAL PLAN DATE SIG-010-A 70F7

SECT




